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)(xf の次数を nとすると、 )()( xfxf  は 12 n 次、 
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)()()( の次数は 512 ≧n であり、1にはならないので不適。 

 

2≦n であるから、 cbxaxxf  2)( とすると 

 baxxf  2)(  c
ba

cxx
b

x
a

ctt
b

t
a

dttf

x
x









 232323

)( 23

1

23

1
 

 

9

4

9

4

23
)2(

2

1
3

3
2

2323
)2(32

2323
)2)(()()()(

2232

232232

232

1






















 

xc
ba

bcxccabxabx
a

a

c
ba

cxx
b

x
a

bcxcababxxa

c
ba

cxx
b

x
a

baxcbxaxdttfxfxf
x

 

 

係数を比較して 
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以上により 
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